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%;ﬁgTa 149% | R% | RE 3,083.00
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026 | H24217 | #E 1 ‘%ETTE 526% | @ | M 219.00
2 ;EEETTE 547%1 | M 9,388.00
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3 ‘%ETTE 530%  |MtiEih|MiEM 56.00
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18 R hows | ® | @ 2,359.00
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15 ;ZQ;E?TTE 1056% | B | B% 1413.00
16 ;:C;?EE‘?TTE 1058% B | R% 6,339.00
mE B # (B 6,682.00
mist (BRiR) 13,992.84
A&t 20,674.84
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3 |m1TE 494 H 2} 6,023.00
{ZKHET - -
4 |@=h1TE 496% [FEF | HE 2,398.00
{ZKHET - -
5 |mL1TE 4975 [FEF | HE 61.00
{ZAKHET
6 |mL1TE 498% H 2} 4,646.00
{ZAKHET
7 |lgL1TE 499% H 2} 9,664.00
{ZRHET f
8 SL1TE 500% pul 2,137.00
pu 1,937.00
Eih 200.00
{ZAKHET
9 |®=L1TE 5011 | Eih | Eith 836.92
{ZAKHET
10 S1TH 5031 2} H 2,015.00
{ZAKHET
11 EL2TH 13% MM | MR 83.00
{ZAKHET
12 EL2TH 14% H 2} 3,802.00
{ZAKHET
13 EL2TH 15%& H 2} 4,276.00
{ZKHET
14 ERE 59% WAk | sk 2,924.00
{ZKHET
15 ERE 62% WAk | sk 254.00
{ZKRHET f
16 ERE 63% pul LAk 6,034.00
{ZKHET
17 ERE 65% WAk | sk 95.00
g EL=H) 38,397.00
miE | B # (FHR) EE A,
giwsh R 1520402/ B VIR
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miE | B # (FHR) 14,257.00
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&it 14,257.00
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3 ;:(?;TTE 1068% | M M 2,708.00
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5 ;:C;?E?TTE 110%&1| 1B | [REF 2,179.00
o (g [12E | B | @ 5,386.00
mE B # (B 8,094.00
=i (B 5,415.00
A&t 13,509.00
065 | R3.10.27 )| 1 %EIKTETTE 615 HETEML | M 62.00
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2 ;:(?;?TE 269%2 | H M 66.00
3 ;:(?;?TE 276%2 | H M 71.00
4 ;:(?;?TE 276%3 | H M 207.00
5 ;:(?;?TE 276%4 | H M 21.00
6 ;:(?;?TE 277%2 | H M 241.00
7 ;:(?;?TE 278%2 | H M 328.00
8 ;:(?;?TE 280%1 | H M 3,620.00
9 ;:(;EETTE 28271 bl bl 20,012.00
10 %;’;?TE 748% m | | 33,027.00'*}%%‘@%@50
mE B # (B 63,069.00 ;?is_sgmz
‘REHY
s GRR) — %ﬂtra%%;;&%
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5 |I=AHET 50%  |MREdh | Mg 184.00
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6 | LE13THE 53% H 2} 3,206.00
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miE | B # (R 27,838.00 RS
g 3 1,500m
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